U-6 bt=a7FvA/LFCUP
T7=ANTTUN 1537 — I T /NSRS S T
AT a7
Loddzn—| Barsox [BERY 2=T | B a7 HET) b A KA A MR | Sk s JIEAL
7 o i S 3
L% fxzE— O o [ 2 10 -8 3
1 - o o- 711- 3
1
Ea 7 ¥y A (] ([ A 1 0 7 -7 4
0 - 1 0 - 6 0 - 0
3 3 3
RS Ay O O O 18 0 18 1
7 - 0/ 6 - 0 5 - 0
3 1
v =7 HET O A () 3 6 -3 2
3 - 11 0- 0o 0- 5
B7 v
a7 R LY UARHE| Car ey [ Lo B A S N s b= JIEAL
v a7 R o o 1 10 -9 3
0 - 211 - 6/ 0- 2 JERL AR X
3 3
LY s H O [ O 5 2 3 2
2 - 0 1 - 202 - o0
3 3 3
L 2T FXA IV O O O 12 2 10 1
6 - 1] 2 - 1 4 - 0
e o] P Sh HE ] 3
LLLT = O [ ) [ 2 6 -4 4
2 - 0l 0 - 200- 14 JERE AR X
T7—=ANTUUN TH3 o — RTINS 7 S
BH G HRF [ EERA=—h A KB EEH=—h bl
10:00~ Lofza— 1 = 0 BarFsA  KE B 227 5 - 0 Ea T HET AT
10:15~ VaTRUE 0 - 2 LU N EaT7FY AV 4 - 0 <Ux<7— N
10:30~ Uoifzo— 0 — 7 HEEE/ a=7 N 7%y X 0 - 0 B a7 HAET N
10:45~ a7/ 1 - 6 EalFeAnh Nl VYR 2 - 0 <Ls<7- AL
11:00~ Laifrn— 1 - 3 E=7HHT A o7y X 0 - 6 BUEREYa=T AR
11:15~ EaTBUE 0 - 2 <UR<T A KES VYUARIE 1 - 2 EaT SN A
T7ATNVITN T3 — I HIRT /N 7 S |
SOOI E Bk BERA A= —F o T8k e (AFfEME=—k 1
A7 a7 3L B7 a7 3 AT O TAN B7 o741
11:45~ LAz 1 - 0 Ea784E PN a7y X 3 - 1 LUL<T NS
_ \EﬂBT\/J\iTiw“?fi‘/P
5k EERA=—F ] Shr ek KFEEHA=—k ]
A7 a7 1L B7 oy 714, AT 720\ B7‘D/72u
12:00~ Hiehs 227 1 — 0 Ea7Fv b AR o7 HET 2 - 3 LU N




